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. SFHYHEER LR (26%)
(a) fe[sH%E& A (insulator)? (b) a3 - 2% (semiconductor)? (c) 18] 55445 (conductor)?

2. PSR YEIVEIE: - AL AR L T & (ERAE: (25%)
(a) BfF#(ionic bonds)? (b) H:{E#(covalent bonds)? (c) 7k A BB B 1 g (permanent dipole
bonds)? (d) Z4F)EE {F 15k §# (fluctuating dipole bonds)?

3. Classify each of following solvents as aprotic or protic: (26%)
(2) CH30H (b) C3H7NO (DMF) (c) C6H18N30P (d) CH202 (e) HF

4. Draw each of the following compounds: (25%)
(a) 1,2,3,4-Tetramethylcyclopentane (b) 2,2,4-Trimethylpentane
(c) 9-Ethylcarbazole (d) 2,2'-Bithiophene




